1.
(a)

1

	7
	+
	1
	8
	=
	2
	5


(b)

1

U1

	2
	5
	×
	3
	=
	7
	5


[2]

2.
An explanation which recognises that a multiple
1 m
of 5 can end in 0 as well as 5, eg
U1


‘Because 10 is a multiple of 5’;


‘Because it can end in 0;


‘Because some numbers end in 0’.

No mark is awarded for circling ‘No’ alone.

Do not accept vague or arbitrary answers, eg


‘Because not all multiples of 5 end in 5’

If ‘Yes’ is circled but a correct unambiguous explanation is given, then award the mark.

[1]

3.
[image: image1.wmf]9
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[1]

4.
One number circled as shown:

[image: image3.wmf]750       72       651       69       770


1 m

Do not award the mark if additional incorrect numbers are circled

Accept alternative unambiguous indications, eg ticks, numbers crossed out or underlined.

[1]

5.
96

[1]

6.
Completes the sequence as shown:
1
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Both numbers must be correct for the award of the mark.

[1]

7.
Award TWO marks for the correct answer of
Up to 2m
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If the answer is incorrect, award ONE mark for


either
22 in the first box
or
a number in the second box, which is 10 more than half the answer given
in the first box.

Numbers must be in the correct order.

[2]

8.
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1

Accept reverse order OR labelling of numbers.

Do not accept transcription errors which result in as incorrect order, eg:
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[1]

9.
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1m
Do not accept numbers circled twice.

[1]

10.
Accept an explanation which recognises that consecutive or adjoining
1
shaded numbers have a difference of 9, eg
U1


‘You are adding 9 each time’;


‘The numbers are going up by 9 each time’;


‘The numbers go down by 9 each time’;


‘The rule is to add 10 and subtract 1’;


‘It is going down one in the units and up one in the tens’.

Do not accept an explanation that is vague or arbitrary, eg


‘The numbers get bigger’;


‘The numbers get smaller’;


‘The rule is to go down 116, 125, 134, 143’;


‘The units are going down and tens are going up’.

Do not accept:


‘The numbers are multiples of 9’.

[1]

11.
0 and 30

Both correct for 1 mark.

[1]

12.
Numbers written in order as shown:
1

[image: image9.wmf]106
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Do not accept reverse order.

[1]

13.
Boxes completed as shown:
1

	64
	32
	16
	8
	4
	2


Both answers must be correct for the award of the mark.

[1]

14.
Boxes completed as shown:
1

	9
	7
	–
	5
	4
	=
	43


Both digits must be correct for the award of the mark.

15.
9 or 11 or 13 or 15 or 17 or 19

[1]

16.
12, 13, 14
Only these numbers are acceptable.
1

Any method of indicating them is acceptable.

17.
50
1m

[1]

18.
Award TWO marks for all six different two-digit numbers given in any order.
Up to 2

U2

	25
	27
	52
	57
	72
	75


Award both marks even if any numbers are duplicated in the list, provided all six different numbers are given.

Do not accept 22 or 55 or 77 unless given in addition to the correct six numbers.


If the answer is incorrect, award ONE mark for five different correct numbers.

[2]

19.
Diagram completed as shown:
1

[image: image10.wmf]35 hundreds

3500 ones

35 tens

350 tens

350 hundreds

3500


Both lines must be drawn correctly for the award of the mark.

Lines need not touch the numbers exactly, provided the intention is clear.

[1]

20.
9.8
1m

[1]

21.
Award TWO marks for all five numbers in any order as shown:
up to 2


624, 642, 646, 662, 664
U1

Ignore 626 or repeats of the five correct responses.


If the answer is incorrect, award ONE mark for:


four out of five numbers correct and none incorrect


OR


five numbers correct and only one incorrect.

For ONE mark, ignore four-digit numbers.

[2]

22.
Award TWO marks for numbers written in the correct regions as shown:
up to 2

[image: image11.wmf]factors of 30
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If the answer is incorrect, award ONE mark for any three numbers written in the correct regions.

Do not accept numbers written in more than one region.

Accept alternative indications such as lines drawn from the numbers to the appropriate regions of the diagram.

[image: image12.wmf]1876
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Lines need not touch the time line provided the intended accuracy is clear.

[2]

23.
1000 ½ OR 1000.5
1

Accept the answer in words, eg

· ‘1000 and a half’.
[1]

24.
Any odd numbered multiple of 10, ie 10 OR 30 OR 50 OR 70 OR 90 OR
1
any number ending with any of the pairs of digits above.


An explanation which recognises that all multiples of 20 are also multiples
1
of 10, eg:
U1


‘Because all the numbers in the 20 times table are also in the 10 times table’


‘Because all multiples of 20 are multiples of 10’


‘Because 20 is in the 10 times table’


‘All multiples of 20 go in box A because 10 goes into them’


‘20 is a multiple of both 20 and 10, and so is 40, 60, etc’


‘Because if it’s not a multiple of 10, it can’t be a multiple of 20’


‘Because if it is a multiple of 20, it has to be a multiple of 10’


‘Because 10 is a factor of 20’.

Do not accept vague or arbitrary explanations, eg:


‘Because 40 is a multiple of 10’


‘Because they would be in box A instead’


‘Because all the multiples of 10 are multiples of 20’


‘Because 10 is a multiple of 20’.

[2]
25.
Boxes completed as shown:
1


£ 8569
[image: image13.wmf]

£ 9090
[image: image14.wmf]

£ 9130
[image: image15.wmf]

£ 8999
[image: image16.wmf]
Both answers must be correct for the award of the mark.

Accept alternative unambiguous indications, such as ‘Yes’.

Ignore crosses or ‘No’ in the other boxes, provided it is clear that the correct two prices have been chosen.

[1]

26.
[image: image17.wmf]3
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U1

[1]

27.
(a)
[image: image18.wmf]1
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6


1m

(b)
An explanation which recognises that the numbers in circles
1m
are multiples of 5, eg
U1


Because all the circles are multiples of 5.


Because 35 is in the five times table.

Both numbers must be correct for the award of the mark.

Answers may be written in either order.

Do not accept vague or arbitrary explanations, eg


‘Because you keep on adding 5’;


‘Because the circles are 5 more each time’.

[2]

28.
9 (dots)
6 (crosses)

Both to be correct for 1 mark.

[1]

29.
Numbers completed as shown:
1


650
+
[image: image20.png]


 =

Do not accept digit cards used more than once.

Answer to the calculation is not required for award of the mark.

[1]

30.
Award TWO marks for a correct number written in each
Up to 2 marks
of the four boxes.

	
	even
	not even

	a square
number
	0 OR 4 OR 16
OR 36 OR 64
	1 OR 9 OR 25
OR 49 OR 81

	not a square
number
	even AND
not a square AND
less than 100
	odd AND
not square AND
less than 100


If the answer is incorrect, award ONE mark for three boxes completed correctly.

Accept more than one number in each box, provided all are correct.

[2]

31.
An explanation which recognises that the sum of
1 m
adding three odd numbers is always odd, eg
U1


‘Because odd + odd + odd = odd’;


‘Because three odd numbers can’t add up to an even number’;


‘Because an odd number of odd numbers makes an odd number’.

Do not accept numerical exemplification without further explanation, eg


‘Because 21 + 23 + 7 = 51’;


‘Because 21 + 23 + 6 = 50’.

Do not accept vague or arbitrary explanations, eg


‘Because 50 is even’;


‘Because you can only do it with two odd numbers

[1]

32.
(a)
Award TWO marks for the correct answer of 43, even if there
are errors in the working.
up to 2


If the answer is incorrect, award ONE mark for evidence of an appropriate
calculation of multiplication by 4 and addition of 3, eg:


3 + (4 × 10)


4 × 10 + 3


10 + 10 + 10 + 10 + 3


OR by drawing OR other methods.

(b)
14
1

(c)
Award TWO marks for expressions such as:
up to 2


S = 4N + 3


S = 3 + 4N


S = N + N + N + N + 3


If the answer is incorrect, award ONE mark for evidence of multiplying N by 4
in the expression, eg:


4N


4 × N


N.4


N + N + N + N


OR award ONE mark for evidence of adding 3 in the expression, eg:


N + 3

Do not accept S = × 4 + 3 = N
up to 2
[5]

33.
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OR
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Accept alternative indications such as the numbers crossed or underlined.

Do not accept 1000 circled twice.

[1]

34.
Explanation which recognises that
1m
each number is one more than a multiple of 3,eg


‘It starts at 1 and keeps adding 3 so it misses all the multiples of 3’,


‘Multiples of 3 are all 1 less than the numbers’.

No mark is awarded for circling ‘Yes’ alone.

Do not accept vague or arbitrary explanations such as


‘They’re too big’;


‘It doesn’t go far enough’;


‘It is adding 3 all the time’.

If ‘No’ is circled but a correct unambiguous explanation is given then award the mark.

[1]

35.
–60 in first box.
Up to 2m

Accept ‘minus 60’

Do not accept ‘60–’

–140 in second box

Accept ‘minus 140’

OR Do not accept ‘140–’

OR

a number 80 less than the answer given in the first box provided both numbers are less than 0

If the answers given are ‘60–’and ‘140–’respectively, award ONE mark only.

[2]

36.
36 AND 9
1

Numbers may be given in either order.

[1]

37.
Award TWO marks for the correct answer of 2051
Up to 2 marks


If the answer is incorrect, award ONE mark for
evidence of appropriate method, eg

(4099 + 3) ÷ 2

OR
continuation of sequence, eg

259, 515, 1027, wrong number

Answer need not be obtained for the award of ONE mark.

[2]

38.
(a)
–35 (in left-hand box)
1

Accept for ONE mark ‘35–’ AND ‘80–’

(b)
–80 (in right-hand box)
1

Accept for ONE mark any two negative numbers such that the second is 45 less than the first.

[2]

39.
Award TWO marks for all three boxes correct as shown below.
up to 2
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If only two boxes are correct, award ONE mark.

No marks are awarded for only one correct box.

Accept ‘1n’ for ‘n’.
Accept ‘7n + 0’ for ‘7n’ and similar alternatives.
Accept ‘3 + n’ for ‘n + 3’ and similar alternatives.

[2]

40.
Explanation which indicates that 300 can be added to 195, eg
1


‘It’s 3 × 100 more’;


‘You add another 300 on’;


‘3 × 65 = 195, 3 × 100 = 300 so it’s 495’;


‘100 has been added to 65, so multiply 100 by 3 and add it to 195’.

An answer to the multiplication is not required and no mark is awarded for it.

Do not accept vague answers such as:


‘You work it out’;


‘Do a sum’;


‘It’s nearly the same except it has 100 in front of it’.

[1]


1

